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Note : Question no. 1 is compulsory. Attempt any 8 questions

from Q 2 to Q 10.

1.	 (a) Radha takes part in a dancing competetion, 	 4
where she uses a lot of mathematics. Give
two examples in support of this statement
from two different areas of mathematics
What is a numeral? How will you convince	 4
children that a number is different from its
numeral?
Give an example of a wrong mathematical 	 4
generalisation made by children. How
would you help them realise that it is false?
Describe two detailed activities to make a	 4
child understand that

1
3= --2- =6,

What is a line of symmetry? Give an 	 4
example of a plane figure with exactly two
lines of symmetries. Describe an activity to
develop an understanding of a line of
symmetry.
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2. (a) Some children in a class when given	 8
problems

3 1	 1	 1
(0	 5 5	 •

2	 0
gave the answers 0— and 1, respectively.

What could be the possible
reasons for the gap in childrens'
understanding	 of	 the
subtraction rule?
According to these children,
what is the	 rule for	 the
subtraction of fractions?
What could be the possible
reason for children acquiring
this faulty rule?
Suggest an activity that can be
done with children to get rid of
this misconception.

	

(b) What is seriation ? How is it different from	 2
ordering ? Explain the differences with the
help of an example.

3. (a) Ramesh solved a sum as shown below: 	 6

54
- 26

32

Analyse and write down the probable
reasons for the error made by Ramesh.
What activities would you plan to help
Ramesh overcome this problem ?
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(b) What is a negative number ? Give two	 4
different context in which the concept of
negative number can be introduced to
children.

(a) Create a "think of a number" game for a 10	 6
year old child involving at least two number
operations. Explain how will you help the
child understand how the number is arrived
at ?

(b) Given below is a mathematical statement	 4
6+4=10,

Create two distinct word problems based
on the above statement.

(a) List two activities to check that the 	 4
importance of having two equal parts for
finding half of any whole has been
understood by children.

(b) Using resource materials that is available 	 6
around you, organise an activity to
introduce the concept of measuring volume.
Also design an activity to help learners
distinguish between capacity and volume
of a container.

6.	 (a) Write down the algorithm for the	 4
multiplication of a 2-digit number by a 2-
digit number. Explain how each step works.

(b) A child solved the following problem as
shown below.

Firs	 Mts

	

2	 55

	

+ 1	 50
4	 05
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What are the reasons for the child's error in
the above sum? Suggest the series of
activities to help the child understand and
solve such problems.

	

7.	 (a) What is an angle ? Devise a group activity	 4
for children of class 4 so that they are able
to understand the concept of a right angle
and identify right angles around them.
"Childrens' errors provide the teacher an	 4
insight into learning by children."
Comment on the statement. Illustrate your
comments with the help of an example
related to place value.
What will be the number in base 7 equivalent 	 2
to (156) 10 ?

	

8.	 (a) What are the steps involved in planning a 	 8
unit for teaching ? Plan a unit on the
addition of two digit numbers giving details.

(b) What is an algorithm? Why do we use an 	 2
algorithm in number operations?

	

9.	 (a) Describe how an activity based on "Dividing	 6
the square into 100 equal parts" Can be used
to develop an understaning of tenths and
hundredths. Also explain how the same
square can be used to find 0.47+0.22 ?
What is the difference between time interval	 2
and instant of time? Explain with the help
of an example.
Give two spatial concepts that children	 2
usually acquire by class-1, with justification.
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10. (a) What is a variable? What are the
misunderstandings children have when
they are introduced to the concept of a
variable? (List at least three). Give details of
an activity you would plan to help children
understand the concept of a variable.

(b) Suggest a group activity which can be used
to help class-1 children learn addition facts.

7
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